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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
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¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is “CORRECT” answer. The candidate has to write the Correct
Alternative [ie. (A)/(B)/(C)/(D)] against each Question No. in the Answer

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : VI - A

Full Marks : 20 Time : Thirty Minutes

Choose the correct answer.

Each question carries 2 marks.

1. Who wrote the book “Economy and Society”?
(A) Anthony Giddens
(B) Max Weber
(C) Emile Durkheim
(D) A. Comte

2. Which of the following is the feature of Primitive Economy?
(A) Manufacturing of capital good
(B) Present of regular market
(C) Economic relations based on barter and exchange

(D) Absence of specialization on labour

3. Which of the following is not as measures for land reforms?
(A) Consolidation of holding
(B) Introduction of intermediaries
(C) Abolition of intermediaries

(D) Collection of farming

4. All economic activities involving the creation of goods and services is called —
(A) Production
(B) Consumption
(C) Distribution
(D) Exchange

5. India’s path of development is based on —
(A) Private enterprise
(B) State enterprise
(C) Private and state enterprise
(D) Gandhian model
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10.

. Political Sociology is concerned with the —

(A) Analysis of socio-political factors in economic development

(B) Process of power and authority in all social systems

(C) Political culture which is transmitted from one generation to the next
(D) All of the above

. Which are the characteristics of state?

(A) Population and accountability
(B) Population and rationality
(C) Population and obedience

(D) Population and sovereignty

. Which of the following is not a ‘means of production’ according to Marx —

(A) Capital
(B) Land
(C) Labour

(D) Crops

. Who advocate the theory of capital legitimacy?

(A) John Locke

(B) Thomas Hobbes
(C) J.J. Rousseau
(D) Atristotle

Privatization in education is a consequences of —
(A) Urbanism

(B) Increase in education

(C) Liberalization

(D) Development of science and technology
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The figures in the margin indicate full marks.

Group-A
Answer any four questions, taking at least one from each section:  15x4=60
Section - I
1. Discuss the nature and scope of Economic Sociology. 15

2. Write an essay on the distinction between primitive and peasant economic system.

15
3. What is Globalization? Discuss the impact of Globalization on Indian Economy.

5+10

4. Discuss the impact of land reform in Post-independent India. 15
Section - II

5. Define Political Sociology. Discuss the scope of Political Sociology. 5+10

6. What do you mean by power? Discuss the different forms of power. 5+10

7. Define authority. What are the different types of Weberian authority? 5+10

8. Distinction between liberalism and fascism as two forms of political ideology. 15
Group-B

9. Answer any four questions from the following : 5x4=20

(a) Write in brief any four significant features of economic transformation in India.
(b) Write in brief the impacts of land reform on agricultural development in India?
(c) Briefly narrate the impacts of commercialization of agriculture in India?

(d) Explain liberalism as a way of life.
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(e) Distinguish between political power and political authority.
(0 Explain in brief the concept of democracy.
(g) Discuss Weber’s concept of bureaucracy.

(h) Briefly discuss the welfare model of development.

(6)



